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Exercice 1

Compléter avec un nombre décimal :

1 1
1. 4% — +3x104+6%x1000= ... .00 ... 4. Tx1+7 8 X =
Pl dx g o b P T T 00 T8 % 10
»2 1><i+6><10+1><100— 4 ! !
. 10 R »5. x1—0+1xﬁ+6x100— ...............
1 P6. 2Xx14+7x104+9%x100=.......0oovo....
3. 2% — +1 7x1000=..........
>3 =X 0T *Tooo T

Exercice 2

Compléter avec un nombre décimal :

>1.8><10+4><1i0+8><10100: .............. ’:'zxi[)*:;m(i*jgxwfoz ~~~~~~~~~~~~~~~

»o. X X — X = = e
>2.1x10+2x%+9xﬁ: ............. ) 10? 10
>3-9X%+9xﬁ+1x1000: ............ >6. 9 x Top TAX o0 =
Exercice 3

Compléter avec un nombre décimal :

1 1
1. 3X100+7X —4+7TX —=......coin.... 4, 2 OX1004+2X —=.............
g R TR EURART: > =X To00 TP TR g
1 1
>2'7X1+1Xﬁ+5><10: ................. >5.4><100O+4><1—0+9><100: .............
3. 7x104+1x1000+1x100=.............. 6. 2x1+5x1004+4x10=.................
Exercice 4
Compléter avec un nombre décimal :
1. 7x1+9 L +6x10 4. 6 ! +1 = +9 x 1000
»1. 7 x X — Xx10=................. »4. 6 X — X —— X =
100 100 1000
1
= »5. 4 x —+9 8X10=..............
>2.7><10+1><1000+2><1000 ............ ><10—|— x1000+ X
pu— 1
3. 4Xx14+9x1000+4x100=............... >6.7><1+3><1000+2><1000: .............

Exercice 5

Compléter avec un nombre décimal :

= 1
»1. 2% 10046 x 10+7x1000=.............. bd AX14Tx100042x% e

1 100

»2. TX T3 X Togo t3 X g = »5. 4x1+8x1000+3x100=..............
1

23 Ix104TX 9% e 26, 8X — +Tx1004+2x1000=............

100 10 100

Année 201 5/201 6 http://www.pyromaths.org


https://www.toupty.com/exercice-math-6eme.html

